12 € BEHOTSTOMN 2023 FFEHHE WHEAT (KIE2RR)

flx)=x*+ %x3—2x2—x—2t§5.
a) f(x) DEREEE f'(x) &2 NERAFN 17 (x) ZERD K.

fl(x) = 4x3 +x2—4x—1

F(x)=12x%2 +2x —4

b) f/(x) =0&BDx &EROK. Kz, [f'(x) > 0LEE8D x DEBHERDK.

Flx)=4x3 +x2—4x—1=(4x + )(x = D(x + 1) °H'B,

S =06 x=1-1-+

f’(x)>0<$—1<x<—%, 1 <x

o f'(x)=0&BD x ZROK. Tz, f(x) > 0LED x DEHRZROK.

f(x) =12x%2 +2x —4 =203x +2)2x — 1) =H'5,
ff) =06 x=—

1

2 1
3°2
f”(x)>0<:>x<—2, — <x
: 3 2

d) f(x) DEERRZEZTMNSEL. EREZDITEIISIOUMOHANS L. )

x T I O T - L 1 1
(%) — 0 + + + 0 - - 0
£ (x) - + - 0 - — — 0 -
f(x) G | @h S \mes| | @x R il

20237848

ai
%

ASHFE |58 2 ® LiE! & DUnH

K&

f(x) = (x =Xt T3,
a) f(x) DEEEE f'(x) &2 ER@E "(x) ZROK.

f/(x) =(x— ])/ex-i-l +(x — 1)(ex+l)/ — ¥ t1 +(x — l)ex-i-l
:Xex+1

F'(x) = (x) et + x(ex'H), ="l 4 xe¥ Tl

= (x + 1)e*t!

b) f/(x) =0 &% x BRDE. F2, f/(x) > 0 E55% x DEBEERDE

et FRICEDEZEEZZEND,
flx)=xe*Tl =0 x=0

flx)=xe*Tl >0 x>0

o f'(x)=0&8D x ZROK. Tz, f(x) >0 ELD x DEBEZRD K.

ST =@+ Dt =06 x =1

") =x+DeXtl >0 x> -1

d) f(x) DEBRIRZTMSEL. (BEIZITEIISTOUOHRRND L. )

X —1 0
£1(x) - | - - 0 +
1@ | - 0 + |+ +
f(x) Y | 2 L | —e

e) f(x) PBX - WNEBDR, BLOBHRZERD K.

mAEHBR: 7L
BNGBE: x=0 BZ: WME: —e, WNE: (0.—e)
TS (~1,-2)

[(RiT&<]



fx) = dxe=% &3,
a) f(x) DSEH f'(x) &2 REEH [ (x) ZKRDK.
F1(0) = (@)™ + 4x(e*§)/ —ae T paxe S () =4 e S
= 4(1 —x%)e”

f(x) =41 - xz)/e_% +4(1 —xz)(e_T)/ = 8xe™ T —4x(1—x2)e 2

2
= 4x(x2 —3)e 2

b) fl(x)=0&EBDx &, f(x) >0EED x DEHEEKRDK.
X2
e” 7 [BICEREDD,

flx)=0 & (1-x2)=0 & x=1,-1

ffx)>0 & 1-x2)>0 & —l<x<1

o f'x)=0&EDxE, f(x) >0EBD x DERERDK.

f"x) =0 & x(x2=3)=0 & x=0,—v3,V3
f"x)>0 & x(x2=-3)>0 & —V/3<x<0,x>+3

d) f(x) DERRZTRSEL. BRIZIITEIISTOUMGHRND L. )

X N ENE -1 ... 0 ... 1 J3
(%) — — — 0 + + + 0 - -
f'@ | - | o + | + + |0 - | - -1 0
f(x) IRV ;T N I 1) S \Emma| C | Bk | ZER

185 : B MA (kuwata.04f@g.chuo-u.ac. jp)

e) f(x) PBX - WNEBDR, BIOEHRZERD LK.

BREZDR: x=1
WNEZTDR T x=—1

panif=

f) e72=0607, e

(—v/3,—4+/3¢73), (0,0), (v/3,44/3¢"2)

3

=320223, ¢2=0.135 ¢ 2=0011THBELT, f(£1), f(£3), f(£2),

f(£3) DIEZHEE L.

f(#1) = 2428,  f(++/3) = 1.545, f(£2) = 1.08, f(£3)=0.132

) XETOO fx)=0, lim f(x)= 0 THDCEPRONTVD. &, CTERTORRZANT,
f(x) DI S DD\ TBICHIT.

|

3 N ;) I 0 I 2 3 7 x
N\ f
\ /
\ / -2
.
-3
4
CPaRXF



